‘Attempt all guestions. 8T
Constants: R = - 8.314 Jmol? K k,-]”;gfo-ﬂ' K
molecules; w = 3.142; Oz -jglm,;—i CHe=16.

nf the fi liuwln; .m
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od. One mole of methane (CHa) is
confined toa 250 mL container a1 300
K. Using van der Waal's ‘equation,
caloulate its pressure. Given that u =
2253 L* atm mol™; b = 0.0428 L
mol-': R = 00821 L atm mol™ K-,

A. 106.9 atm B. 93.0 uim
C. 82.8 aim -D.98.5 atm

- |
K0 The mean free path (1) for a gas, with -

density m, can be expressed as: .

1 :
o W 2nnd?
il o ——:L—-' D —
“(VE)ninid? = (f2)mnd

11. For the reaction: Cip + O 2 —
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mm* ealght line with
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|
by # factor of 100 upon
ii::g::n'?:n the temperature from 300
K 1o 360 K7
A. 27
B. 35
C, 42
u 69 1 b Clrue neeld
\26. There are two statements ahoul idul _:;. w sl
(i The root-mean-square ?ﬂwi
(Vime), Of gas molecules depends on
wmﬂ’ﬁummﬂmiﬂnd the
temperature
(ii). The root-mean-square wlndm.
(Vima), is same Ehr all the gases at the

mhn!h{i)mdﬁi) B.(i)only
C. {mm{r D. nﬂfﬁﬁ(i)lnn;(ﬂjr
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